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TP SN Tt 8 wIfdd
Gt Aty 8 8 st

1.0.3 x 0.5 foo1id et |



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_B68ReyRWPjr1

l ° Watch Video Solution

2.1.3 x 0.7 foI &I |

° Watch Video Solution

3.1.35 x 1.4 -99 GH(g I 418 T |

° Watch Video Solution

4.1.2 x 2.5-99 GH(g DI 18 medt |



https://dl.doubtnut.com/l/_B68ReyRWPjr1
https://dl.doubtnut.com/l/_xL83G0Anfjfs
https://dl.doubtnut.com/l/_PbXWElBJt64j
https://dl.doubtnut.com/l/_W8skjFWhEJoF

[ ° Watch Video Solution

5. OIA JINBIT AW Jisite =7 4@

0.4 x 0.7 8 0.2 x 0.8 -a7 T TS |

o Watch Video Solution

6. 956 ISBHT@d AB6 Jed idT 5.2 AT, , @

IfGHaq ATt 8 Gramd fid Sl |

° Watch Video Solution



https://dl.doubtnut.com/l/_W8skjFWhEJoF
https://dl.doubtnut.com/l/_ojNxN6KSHkRa
https://dl.doubtnut.com/l/_EbLmfsCY9qRb
https://dl.doubtnut.com/l/_gVdWNv6zb1gY

7. 917 (1S 6.2 x 3.1

° Watch Video Solution

8. 17 (ita: 11.3 x 2.5

° Watch Video Solution

9. 17 S 11.25 x 7.3

° Watch Video Solution



https://dl.doubtnut.com/l/_gVdWNv6zb1gY
https://dl.doubtnut.com/l/_KiLcsbK2JzI7
https://dl.doubtnut.com/l/_KtWdOrytlXRZ
https://dl.doubtnut.com/l/_9deSOWDOWywu

10. T4 &ItST: 0.03 x 0.3

° Watch Video Solution

1. 917 &St 0.04 x 0.04

° Watch Video Solution

12. 45 CIfFoTABIT HETd ©OTld ©ld (P ISfBIT
A | J5IT 9B IS et Fo 2@ 1T FET |

a3 Jsfq afpnat O ofg. |

| s |


https://dl.doubtnut.com/l/_9deSOWDOWywu
https://dl.doubtnut.com/l/_sFmzd4MqZmO2
https://dl.doubtnut.com/l/_frtYdRcFDSDo

| @ watch Video Solution ]

13. ISHBIF STWT BISTST 10 x 10 TFIF IsHBIT 99

(ofd I HicTml 92 I 2todaE™ 0.5 x 0.9 -a7

TN FO (T |

° Watch Video Solution

14. 4% 4 16 Wiet fBA@ | 1 16 Yol wid 12.75

G

I ° Watch Video Solution


https://dl.doubtnut.com/l/_frtYdRcFDSDo
https://dl.doubtnut.com/l/_QCblDxP8F7UT
https://dl.doubtnut.com/l/_6m9PxPopfZbx

15. @ISR ©IF Sfdd 0.35 WL IS FERA

3 JIfP W 0.2 I PeTd BIF FEA | fofd

Ol SfId $0 W PHleTd BIF FERA =717 Sl

o Watch Video Solution

16. OIIST AT (FIBISNTG® 94.5 fHT 92U T |

9P TPAINTBId @@ P FIBISNTT 0.078 feTbid


https://dl.doubtnut.com/l/_6m9PxPopfZbx
https://dl.doubtnut.com/l/_fYbtCrPrVKtg
https://dl.doubtnut.com/l/_ipAVtPRdV6Gv

(@I UIB 2 | 09 @ mdt @rgimd Ji6

PO fTBIF (AT MdDI |

° Watch Video Solution

17. SIifeTI1q mml G (AT ARWE G XI9a
AB TG (Ao 1.4 9701 79 fAe1 | I oF 961"
11.5 BT QU (P BT O HifeT*Ihg JifG

(ATH FXIII BB Do B[ =719 ST |

° Watch Video Solution



https://dl.doubtnut.com/l/_ipAVtPRdV6Gv
https://dl.doubtnut.com/l/_gdlQnPgj0SNA

18. T (GIHIP 2.5 BT, Gt B HIFA(© IAEA |
1 fH8T. SIteTd Wi 62.50 BibT 2T do bidt fATT

MBI T 1217 Bt |

o Watch Video Solution

19. 93i6 oz fagrow dfPnat 144 oifd. | @
Tadie fagrod 116 Jied et o o1, of wifgd

STRYTIT (TN |

o Watch Video Solution



https://dl.doubtnut.com/l/_3hOpA3W6ft1Z
https://dl.doubtnut.com/l/_mRHOzG2LpA7Q
https://dl.doubtnut.com/l/_fthj9Ecm4Zxt

20. BT 0.7 x 0.9

o Watch Video Solution

21. BT 0.6 x 0.5

o Watch Video Solution

22. B39 0.02 x 0.2

o Watch Video Solution



https://dl.doubtnut.com/l/_fthj9Ecm4Zxt
https://dl.doubtnut.com/l/_0NBgQk4ivfMH
https://dl.doubtnut.com/l/_x59IiXcKIcLy
https://dl.doubtnut.com/l/_tKS5JdqFVUp7

23. BT 0.67 x 0.39

o Watch Video Solution

24. B9 0.52 x 0.43

o Watch Video Solution

25. B9l 0.07 x 0.97

o Watch Video Solution



https://dl.doubtnut.com/l/_tKS5JdqFVUp7
https://dl.doubtnut.com/l/_BtMaYdlgvX59
https://dl.doubtnut.com/l/_OrHQ90hSAO3c
https://dl.doubtnut.com/l/_Ypg8682myrQd

26. 39 I 6.23 x 2.51

o Watch Video Solution

27. BT I 5.77 x 2.93

o Watch Video Solution

28. B39 I 8.23 x 0.3

o Watch Video Solution



https://dl.doubtnut.com/l/_Ypg8682myrQd
https://dl.doubtnut.com/l/_Po1xWCWR4hbb
https://dl.doubtnut.com/l/_Y7HAmoIivyWo
https://dl.doubtnut.com/l/_oQa1ITGWnDSj

29. B9I HI: 82.03 x 0.06

o Watch Video Solution

30. B9 B[ 85.29 x 3.92

o Watch Video Solution

31. BIPWI: 72.2 X 2.65

o Watch Video Solution



https://dl.doubtnut.com/l/_oQa1ITGWnDSj
https://dl.doubtnut.com/l/_qqRi9PAao5QI
https://dl.doubtnut.com/l/_MC3M9Z30xCCg
https://dl.doubtnut.com/l/_gHb5FLIDfnnW

32. BT 72.04 x 0.05

o Watch Video Solution

33. BT I 72.156 x 12.16

o Watch Video Solution

34, 39 Pl 0.6 x 0.3 x 0.2

o Watch Video Solution



https://dl.doubtnut.com/l/_gHb5FLIDfnnW
https://dl.doubtnut.com/l/_Sh9rxeX9HqLg
https://dl.doubtnut.com/l/_K7MMLIXvKdDi
https://dl.doubtnut.com/l/_sg4So0EfvJpb

35. B3I DGl 0.2 x 0.06 x .03

o Watch Video Solution

36. BT Pl 2.14 x 0.4 x 0.9

o Watch Video Solution

37. BT3P 1.21 x 0.5 x 5.2

o Watch Video Solution



https://dl.doubtnut.com/l/_sg4So0EfvJpb
https://dl.doubtnut.com/l/_AkCeHoIUxAWX
https://dl.doubtnut.com/l/_7ex5gnglygsv
https://dl.doubtnut.com/l/_k9xYox3CSGvI

38. BT I: 3.06 x 100

o Watch Video Solution

39. BT 7.92 x 1000

o Watch Video Solution

40. JIAT WLSH ( 0T (7D (BT ) A8 |

0.5 x 0.3,0.5,0.3

o Watch Video Solution



https://dl.doubtnut.com/l/_k9xYox3CSGvI
https://dl.doubtnut.com/l/_r8bzDFalZhPW
https://dl.doubtnut.com/l/_pGzYYungOivp

41, JIAd 94 ( I (ATD (@IH ) ATGIS |

0.6 x 0.7,0.6,0.7

o Watch Video Solution

42, TIAJ WS ( I (ATH (RATET ) ATSS |

0.9 x 0.2,0.9,0.2

o Watch Video Solution



https://dl.doubtnut.com/l/_pGzYYungOivp
https://dl.doubtnut.com/l/_wbLewpgwtMFx
https://dl.doubtnut.com/l/_pc8TGjAuhKHK

43, AT WLSH ( G (AT (RAHT ) SSHS |

0.4 x 0.8,0.4,0.8

o Watch Video Solution

44, JIRAd 99sP™ ( 06T (ATD (BIHT ) ATSIS |

1.2 x 1.5,1.2,1.5

o Watch Video Solution



https://dl.doubtnut.com/l/_JfGTCzjNfOOh
https://dl.doubtnut.com/l/_tmhDFOPZU0sJ

45, JIHT WIS ( 0T (AT (RO ) S8 |

2.3 x 2.42.32.4

o Watch Video Solution

46. JIAd WIS ( IS (TP (BIHGT ) ATSIS |

6.7 X 7.2,6.7,7.2

o Watch Video Solution



https://dl.doubtnut.com/l/_tjL0GKsUEIBz
https://dl.doubtnut.com/l/_czOx9sh9bxDd

47. JIAT WLSH ( G (AT (RHT ) SSHS |

8.2 x 1.98.2,1.9

o Watch Video Solution

48, TIfId SRUTIT T Itstt 1 0.625 = 5

o Watch Video Solution

49, TIfId SRUTIT T ISt 1 0.627 = 3

o Watch Video Solution



https://dl.doubtnut.com/l/_vroGrJUHetuM
https://dl.doubtnut.com/l/_pmn6UJCQO0W2
https://dl.doubtnut.com/l/_w1QfM34PkoBB

50.0.32 x 0.51 f237Iq Bl |

o Watch Video Solution

51.1.31 x 0.5 T It |

o Watch Video Solution

52.1.35 x 1.4 -99 GH(g I A8 T |

o Watch Video Solution



https://dl.doubtnut.com/l/_w1QfM34PkoBB
https://dl.doubtnut.com/l/_B2c2687QPsbt
https://dl.doubtnut.com/l/_4q33ujusgNCO
https://dl.doubtnut.com/l/_7OLOfgj6w18t

53.1.2 x 2.5 -9 GH(g I A8 T |

o Watch Video Solution

54.0.5 x 0.78 0.2 x 0.9 -a7 F17 TS |

o Watch Video Solution

55. ABI6 ISTBEHad ABI6 I8d LT 5.5 CIfF. , @

JIsfehtaq afaonat 8 Grama 9 Bt |



https://dl.doubtnut.com/l/_7OLOfgj6w18t
https://dl.doubtnut.com/l/_T1z7Z9m73wlA
https://dl.doubtnut.com/l/_JCzzCpx731A7
https://dl.doubtnut.com/l/_Z3Y5esFhECeJ

o Watch Video Solution

56. T QST 5.2 x 3.2

o Watch Video Solution

57. 914 S 4.3 x 2.1

o Watch Video Solution

58. T TS 6.25 x 7.2



https://dl.doubtnut.com/l/_Z3Y5esFhECeJ
https://dl.doubtnut.com/l/_Lnh1OG2z9xvJ
https://dl.doubtnut.com/l/_xrvrSMNpYvxk
https://dl.doubtnut.com/l/_IpGlcAyyfOIj

o Watch Video Solution

59. TiH &St 0.21 x 0.7

o Watch Video Solution

60. TiIH IS 0.61 x 0.05

o Watch Video Solution



https://dl.doubtnut.com/l/_IpGlcAyyfOIj
https://dl.doubtnut.com/l/_nFz3IAWi5gLv
https://dl.doubtnut.com/l/_LJQymkcNYNwB

61. 45 CIfFfIbId METd Oild ©id &R Isfipia
IA | 5T 9BB Ied LT o 2 2717 FET |

a3 Jusfa sfeomat O cfF. |

o Watch Video Solution

62. 0.245xx0.42" -Ad dIH $© (T |

o Watch Video Solution



https://dl.doubtnut.com/l/_ory2cv2yUn06
https://dl.doubtnut.com/l/_cdeITdnUUFI5

63. {1 3 6 Wiel fFaw@ | 1 6 Yot Wy 12.75

G

o Watch Video Solution

64. QoI BIF Sifdd 0.35 W2 G BEEA

3 JIfF TIHF 0.2 W P BT FEEA | fofF

I SfAd PO I PHleTd BIT FERA 117 Bt

o Watch Video Solution



https://dl.doubtnut.com/l/_wkhvotBTCkMG
https://dl.doubtnut.com/l/_PXv1oE9FUdRB

65. OIS WAl (F15J5MTGre 12.50fR 94 T |
AP REII6IT @@ P @i6Isfog 0.045 61T
(AR Y6 2 | 579 @ midt @igimd Ji6

PO fAIBIF (A MDA |

o Watch Video Solution

66. GIIfeT™ITq mmT G (ATS ARD (G1t I
AR I Cfizite 2.5 961 I9Y fFeT | IM o 9617
62.5 BT @t SR BTy B[ Aifermd JifS

(QATD YT ARG PO 7K A S |


https://dl.doubtnut.com/l/_PXv1oE9FUdRB
https://dl.doubtnut.com/l/_93Y580AU7P7m
https://dl.doubtnut.com/l/_6QgwdoznX5SK

° Watch Video Solution

67. 1 (OIFI® 2 fHalt. Oiet f[PE HIA© I | 1
fPst. Tt W 62.50 BIFT a1 o bIBT AT

MBI T 12717 St |

° Watch Video Solution

68. ABIb A fagow dfeiar 144 oifg. | @
Tade fagrow 116 Ired et do Gifd. of wifgd

STRYTIT (7T |

| e |


https://dl.doubtnut.com/l/_6QgwdoznX5SK
https://dl.doubtnut.com/l/_GWwG1UetHy2p
https://dl.doubtnut.com/l/_xJGBkuaCWpN0

& Watch Video Solution

69. B9 I 0.75 x 0.21

° Watch Video Solution

70. B9 0.64 x 0.15

° Watch Video Solution

71. BT 0.92 x 0.2

| e


https://dl.doubtnut.com/l/_xJGBkuaCWpN0
https://dl.doubtnut.com/l/_id0fyGeyHhya
https://dl.doubtnut.com/l/_VG8COa7j1Rfa
https://dl.doubtnut.com/l/_DR1dG9ZczG5D

& Watch Video Solution

72. 39 0.63 x 0.31

° Watch Video Solution

73. BIIE: 0.55 x 0.4

° Watch Video Solution

74. B39 0.07 x 0.23

| e


https://dl.doubtnut.com/l/_DR1dG9ZczG5D
https://dl.doubtnut.com/l/_vn8gX2GQ0tFs
https://dl.doubtnut.com/l/_h1QIsMktkVkt
https://dl.doubtnut.com/l/_jAW65MMT7kni

& Watch Video Solution

75. B39 I 6.25 x 2.1

° Watch Video Solution

76. B9 D 5.72 x 2.9

° Watch Video Solution

77. B94D: 7.23 x 0.4

| e


https://dl.doubtnut.com/l/_jAW65MMT7kni
https://dl.doubtnut.com/l/_mUE78xsf7s1D
https://dl.doubtnut.com/l/_FBIt3FZ39Otx
https://dl.doubtnut.com/l/_VXpz5G177qSv

& Watch Video Solution

78. BT Il 89.03 x 0.05

° Watch Video Solution

79. BI D 8.29 x 3.2

° Watch Video Solution

80. BT PI: 65.2 X 2.65

| e


https://dl.doubtnut.com/l/_VXpz5G177qSv
https://dl.doubtnut.com/l/_XKeuYOjcbzL8
https://dl.doubtnut.com/l/_0B4pjeuv8Jio
https://dl.doubtnut.com/l/_woxRCgfS8RL9

& Watch Video Solution

81. B9 Pdl: 72.04 x 0.6

° Watch Video Solution

82. B P 72.56 x 12.15

° Watch Video Solution

83. BT D 0.5 x 0.3 x 0.4

| e


https://dl.doubtnut.com/l/_woxRCgfS8RL9
https://dl.doubtnut.com/l/_uKhTT0ie1nls
https://dl.doubtnut.com/l/_odiEekQdswrJ
https://dl.doubtnut.com/l/_sUic0ktQmswG

& Watch Video Solution

84. BIIC: 0.2 x 0.9 x .3

° Watch Video Solution

85. BI II: 2.25 x 0.2 x 0.9

° Watch Video Solution

86. BN I 1.25 x 0.7 x 5.2

| e


https://dl.doubtnut.com/l/_sUic0ktQmswG
https://dl.doubtnut.com/l/_yvpctkurTSMM
https://dl.doubtnut.com/l/_aYFE8ZqYyEHi
https://dl.doubtnut.com/l/_YQaq4CwKKqSN

& Watch Video Solution

87. B9 I 3.698 x 1000

° Watch Video Solution

88. BT Pdl: 696.925 x 1000

° Watch Video Solution



https://dl.doubtnut.com/l/_YQaq4CwKKqSN
https://dl.doubtnut.com/l/_gESRdlQZczWV
https://dl.doubtnut.com/l/_I5yayBAPgnab

89. JITAT WYSH ( (I (TS (BITHT ) ATGHS |

0.5 x 0.3,0.5,0.3

o Watch Video Solution

90. JIAd WYSa ™ ( IS (ATH (BT ) SIS |

0.6 x 0.7,0.6,0.7

o Watch Video Solution



https://dl.doubtnut.com/l/_icgYgFnfbX1i
https://dl.doubtnut.com/l/_dnmrTuMNLkPY

91. A AP ( JGT (AP (RO ) AGUS |

0.9 x 0.2,0.9,0.2

o Watch Video Solution

92, JIAd WIS ( ST (ATH (BRI ) AGIS |

0.4 x 0.8,04,0.8

o Watch Video Solution



https://dl.doubtnut.com/l/_k6K5XscVPZyx
https://dl.doubtnut.com/l/_pHQiXOadjLoK

93. JIAT WLSH ( 0T (YTH (BITHT ) ATGHS |

1.2 x 1.5,1.2,1.5

o Watch Video Solution

94, JIAd W4sa ™ ( ST (ATH (BT ) SIS |

2.3 X 2.42324

o Watch Video Solution



https://dl.doubtnut.com/l/_MAWRdvT1lj51
https://dl.doubtnut.com/l/_FQerLl1jBRiv

95, JIAT WILSa ( G (AP (RATBT ) ATGIS |

6.7 X 7.2,6.7,7.2

o Watch Video Solution

96. HIAd WYSP ( I (TP (RITBI) ASIS |

8.2 x 1.98.2,1.9

o Watch Video Solution

97. WD UTIT i (&itSt 1 0.625 = 5



https://dl.doubtnut.com/l/_znbrVgurOfDF
https://dl.doubtnut.com/l/_IiDXKbXEzDhx
https://dl.doubtnut.com/l/_XImcFtyscCKj

o Watch Video Solution

98. TP 7T TN it 1 0.627 = 3

o Watch Video Solution

1. TS TUTT T4 (@1tS:0.343 = 7

° Watch Video Solution



https://dl.doubtnut.com/l/_XImcFtyscCKj
https://dl.doubtnut.com/l/_agMQ1UyBLBpK
https://dl.doubtnut.com/l/_ThDHrKFO6bfe
https://dl.doubtnut.com/l/_abDekNsaS4Jr

2. 7IfEd ST FIF it 651.2 = 4

° Watch Video Solution

3. JoTu MUTIBIATE wIfIS MUY ST BT

35
16

o Watch Video Solution

4., TP STUTIT T (TS 18 +— 0.2

o Watch Video Solution



https://dl.doubtnut.com/l/_abDekNsaS4Jr
https://dl.doubtnut.com/l/_tVtlFVYG43Kr
https://dl.doubtnut.com/l/_6JojgheXIOcV

5. TP STeUTIT TiA (QTTST: 28.8 = 1.2

o Watch Video Solution

6. TIfT® TRYUTIT JiF ditat: 11.7 = 1.3

o Watch Video Solution

7. IfEE TYUTIT F1 Jitat: 1.35 = 1.5

o Watch Video Solution



https://dl.doubtnut.com/l/_6JojgheXIOcV
https://dl.doubtnut.com/l/_XHoFCUuRhB5M
https://dl.doubtnut.com/l/_jTKg6BdycxOS
https://dl.doubtnut.com/l/_f39wLxxK1n5I

8. Ifad U FiIF Jitsit: 0.65 = 0.5

o Watch Video Solution

9. WIfFd TeUTIT FIF Jitst: 0.07 = 0.5

o Watch Video Solution

10. 5Ig (TIT 8 dF MT: 2.50 x 5 + 3.25 X 6

o Watch Video Solution



https://dl.doubtnut.com/l/_f39wLxxK1n5I
https://dl.doubtnut.com/l/_lH6IodovUZ99
https://dl.doubtnut.com/l/_kMq9AZ0CC1Zt
https://dl.doubtnut.com/l/_r3uK3wRqJl0H

1. 5Ig (TN 8 dE MT: 3.75 X 8§ — 2.50 x 3

o Watch Video Solution

12. 51g (eTRT 8 S Ml: 22.50 x 3.50

o Watch Video Solution

13. @ T 13.75 x 2+ 12.50 x 3

o Watch Video Solution



https://dl.doubtnut.com/l/_r3uK3wRqJl0H
https://dl.doubtnut.com/l/_mKMvLfkgmJGh
https://dl.doubtnut.com/l/_dpZ4yA774HF8
https://dl.doubtnut.com/l/_NpWwRT5Kguib

<

14. Adet O(Fd AN CUICTE

13.28 — 4.07 + 2.7 x 0.02

° Watch Video Solution

L4

15. e OJ(Fd 121G CUICTE

{45.85 — (6.29 + 15.06)} =+ 5

o Watch Video Solution



https://dl.doubtnut.com/l/_NpWwRT5Kguib
https://dl.doubtnut.com/l/_5WD9M5NAyQhW
https://dl.doubtnut.com/l/_gX1n4f1SV4BB

L4

16. AJeT OI(FHd IG! CUICTE

(7.8 — 7.8 x 0.2) + 1.2

o Watch Video Solution

Lod

17. et O(PHd 131G CUICTE

0.35 x 0.35 + 0.15 x 0.15 + 2 x 0.35 x 0.15

o Watch Video Solution



https://dl.doubtnut.com/l/_dgMytJErS8UN
https://dl.doubtnut.com/l/_Lbqi2IDLRepu

18. & omd gF st

{(4 — 2.07) x 2.5} + 1.93

o Watch Video Solution

19. WP STeLUTIT TiA (1TSTT:0.343 — 7

o Watch Video Solution

20. TP STUTIT TiF QIS 651.2 = 4

o Watch Video Solution



https://dl.doubtnut.com/l/_Uvhei0vhCsVa
https://dl.doubtnut.com/l/_kKwojObacnD2
https://dl.doubtnut.com/l/_kw8ixcv9G8EN

21. 7B AT TR @ItE:7 = 3.5

° Watch Video Solution

22, TIfEES TRUTIT JiF Jitat: 18 = 0.2

° Watch Video Solution

23. TIfE® TRYUTIT FIF (JitSt: 28.8 =+ 1.2

° Watch Video Solution



https://dl.doubtnut.com/l/_kw8ixcv9G8EN
https://dl.doubtnut.com/l/_SnQxUhh8QGp2
https://dl.doubtnut.com/l/_XgQ5iXN15NHq
https://dl.doubtnut.com/l/_7GS1s9nURQ0d

24, VIS TRUTIT JIF ditst: 11.7 = 1.3

° Watch Video Solution

25, TIfE® TRUTIT J1F ditat: 1.35 = 1.5

° Watch Video Solution

26. TIfE® TRUTIT JIF itst: 0.65 = 0.5

° Watch Video Solution



https://dl.doubtnut.com/l/_7GS1s9nURQ0d
https://dl.doubtnut.com/l/_CyWRWtrSmyiS
https://dl.doubtnut.com/l/_Cv5nGZ4iQtXn
https://dl.doubtnut.com/l/_Gm7qLHywlVyP

27. WA ST I &itst: 0.07 — 0.5

o Watch Video Solution

28. W (MT: 2.50 x 5 4 3.25 x 2

o Watch Video Solution

29. @ MT: 3.75 x4 — 2.50 x 3

o Watch Video Solution



https://dl.doubtnut.com/l/_Gm7qLHywlVyP
https://dl.doubtnut.com/l/_Ey4xNGmGmtMm
https://dl.doubtnut.com/l/_0UWxaRz31GP7
https://dl.doubtnut.com/l/_HiG4YFPbcIYI

30. @ MT: 21.50 x 3.50

o Watch Video Solution

31. @ T 13.75 x 4 + 12.50 x 3

o Watch Video Solution

32. dA A(Hd q

13.28 — 4.07 + 2 x 0.025



https://dl.doubtnut.com/l/_HiG4YFPbcIYI
https://dl.doubtnut.com/l/_l89ft9IByVI1
https://dl.doubtnut.com/l/_Xzcme0ZIQLuK
https://dl.doubtnut.com/l/_DTudoC6ZFrwV

o Watch Video Solution

4

33. AdeT OI(FHd LIG! CUICTE

{45.85 — (6.20 + 15.06)} =+ 5

o Watch Video Solution

34. 51geT O i (IST: (7.8 — 7.8) + 1.2

o Watch Video Solution



https://dl.doubtnut.com/l/_DTudoC6ZFrwV
https://dl.doubtnut.com/l/_49k1QDnRvwwV
https://dl.doubtnut.com/l/_KaH1iYdQ7eYT

4

35. AdeT OI(FHd LIG! CUICTE

0.35 x 0.35 + 0.35 x 0.15

o Watch Video Solution

36, OS99 W@ gA st

{(5—25) x 1.5} = 3

o Watch Video Solution



https://dl.doubtnut.com/l/_rFCe8EOjBjqF
https://dl.doubtnut.com/l/_870TKUyJcqKa

